CALCULUS |

MIDTERM REVIEV ] -
. ‘ o
" Use the graph to find xP—Tx f[(:) i Jl=} = T

+.1
{a) ©
) 1
{c) oo
(d} Does not exist
{e} Nonc of these

¢

x:'+?1+3 .

2. Find lim ° s
; Eom=il s+ 1
{a) © (b} 1 fc) oo
{d) Does not exist {e) None of these

3. Find tim V62 33
x— 2
(=) o© (b)) B (c) 3v2

(d} Does not exist (e} MNone ‘()f these

: H . 2 .
. H}x_r_n fz) = = and Lim g{z) = g &nd hm [f(x}g(z)].
1 1
(a) 3 {b} ~g {«} 1
{2} Does not exist (e} Nonc of these
2
—5r—¢
*Find lim 08 '
Fmrmmid T 4 i
(=} o (b) —7 {e)  -eo
{d} oo (e} None of these
‘. Find an cquation foi the Line passing through the point (4, - 1} and paraile! to the line
z -3y =13,
(a) 27 = 3y =11 (b} 2z — 3y = -5 f\c} 3z - Zy e o5
s ;
(@} v= ey S fe} None of these
?. Find the cquation of the line passing through the point |0 Gioend perpendicuial Lo the Line
{2} yv+4=0 (b} z—-1=0 fch w+d=1x-
{d} 2z+3y+16=10 {e} None of these
1+ Find the domaim of f{x} = —

bty




q oI f{x) = 222 + 4, which of the following will calculate the derivative of f{=)?

[2(z+ 62)" + 4] - (222 4 q)
TR iR d)

(a)

O
(b) i (227 + 4+ Az} - (22?2 + 4)
. axr—r:o Ax -
©) & iZ(I+AI)2+4]*—(2I:+4}
i . % R |
-c_ sz—n-o Arx
a) (222 + 4+ Az) — {2=? + 4}
( Ar
{e) None of these
1+ 2
'O-Diﬂ'cr:ntiatc: y = T
I —x%
—4z’
_(a) (1 + 17)3 (b} -1
[d) iz {e} None of these

{1+ x2)2

[t Find dy/dx for y = 2> /277

3° 12(7x + 6}
= b —_
{a) 2z + 1 ( ) PAVE T
7 3 b
(y il (¢} None of these
2z + 1 _

‘,;.Find £z} for f{z}) = {227 + 5)7.

{a} 7(ax)© (b} (4=)7
'7 {d} 7—(23:3 <+ 5}6 (e) None of these
. t:JaT x4 3
—3
{a) o b) o=
o R
{d} — = {e} None of these

_{:t — }}3

thc pPosition equation for the movement of 3 particle s grven by s =

measured o feei and ¢ 13 measared in seconds. Find
{a) 342 anits /sec? {b} 18 unitsfsec?

{d} oo units fzec” {e} None of these

;-fmd all extrema in the interval I8, 33y = 227 4 8o
{a) Maxmom: (2, &8); Mindmamm: {0, 0
(b) Maximam: {2, 8}; Minirmom:- {3, 6}
{c} Maximum: {3,6); Minisoum- {2, 8
{d} Maximusn: {‘3, 6} Minimum: {0, O}

fad  WN__ . _f.x

{c} ©

(c)- 3x” VT o+ 1

{c} 28z{2:2 + 53¢

{"C) 7

(’I_Y 133

the atceleration at two seconds,

fc} 2853 units /sec”

137 when 5 .



BeFind y if ? — 32y + 22 — 7.

2x+ y 3y — 2x 2z
(@) = 2y (b) 2y~ 3z (€ 3= 2y
2
(@) = {e)} None of these
' v
g vy .. o1
n Fmd E i) ¥y = T+ y—
; 1 3y —Y
z by ¥
(a) 7 (b) % (¢} T+ 2y
{d) ;2;_::’; {e} None of these

i - 3
'g Piffercatiate: f{z} =

3

xrd
2 =2
(a) 7 (B) =7 (<} ©
{d) -—-z2yx (e) None of these
’ 3
ﬁ{:ind the dervative: vy = —+—f——
: T+ 1
3{z + 2) , 914+ 6
, — b 6 1 —
(=) 2z + 1)2/7 e = (<) 2z + 1)7/%
o T
{d} GT;%F {e} HNone of these

mind an equation for the tangent hine to the graph of f{=]

= 2x% — 2z + 3 at the point where
= L.
(a) y=2Zxr — 72 (b) v =41% - 8z 4 5 (¢} wv= 2141
(d} Y =417 — B o 2 {e) None of these
!
;’Fiﬂé zil points on the graph of f[’_;r_?) = xS 32T T g which there 1t 2 harizontal tangent
line.
(@} (2, 2% {e} None of these
3;}“1‘9& the imstantaneous rate of change of w with respect 1o z i wo
. 5 14
{3) T (i) e fo
6= A w
, 14 . ; k
{4} ——— {e} None of these
B

_&3‘—‘52;)}163: the position equation for a moving object i3 given by ¥
measured in meters and ¢ is measured in seconds. Find the veioa
(E} 13 mfsec
{d:} o) mfscc

= 3¢ 52t + 5 where 3 13
ty of the object when ¢ = 2

(b} 14 mfsec fe

e L rndaas

i\r\i Mone of thess



w.Which of the following is the correct sketch of the graph of the funciion Ia) = ( 1 }2_?
- — 2

r

(a) v (b) ,

4 g 1 .
1 . i
bt 1 1
1 E A
H 4 ] ¢
. i —_— . ] =
i < i 4 *
4 ]
— 1 i
1 !
¥ t
{c) v ; (d) v il
i ! . Fy ; )
: 1 H
3 ] I
2 ' Z g
-1 ! i
i
T . 5 e
¥ 1]
! 3
! 1
H

{e} None of these

x" Which of the following 1s the correct sketch of the graph of the function vy = =2 — 1221 4+ 207

{a) {b}

v v
4 ) 1
| |
o \ |
/ T / f 7‘\
?.—’ /’ el T !
e LS e ST v
% ~ o
(e , @) :




1y decreasing.

;
.,&&F@_d allintervals on which f{z) = ——

(a) (0, o) ®) (-2, 2) () (oo, 0)

(d) (—oo, eo) {e) None of these
w'f!‘ind all critical numbers: f{z} = T 1.
43
(a) 2 | (b) 1, -3 ) -3
(4} 1, -1 (e) None of these

;_'f'ind the valucs of z that give relative extrema for the function f{zr) = 3z — 523,

{a} Relative maxamem: z = §; Relative mimimum- = = V573

(b} Helative masamum: z = —1; Relative minimum- z = 1
{c} Relative maxima: z = +1; Helative mmimum: z = ¢
{d) Relative maxazmam: r = & Relative minima: = = +1

{e] None of these

e . 2+ 1
ﬁ{ind all intervals on which the function 13 concave upward: f{x} = 172
: _ T
{(a} [—oo, oo (b} {—oc, —1} and {1, oo) {e}y |{—oo, 0) and (0, oo}

L‘fi) {1, e} {e} None of these

w;%ét F{z) = 427 — 2z and let f{z) havc critieal numbers —1, O, and 1. Use the Second

“Derivative Test to determine if any of the crtical numbers grves a pelative maximum.

"'(R) . - (b) O (C) :
"{d} —1and1 (e} HNone of these

2x% 4+ 6x7 + 5

3'°Find xingo 34
{2)
{(d}

Pt

(b} oo ()

SRR SRR NS

(e} None of these

9-“3?1%:1‘1 of the following {functions has a hornizontal asymptote 2l y = 7

T — 2 2z trt — b ot
S - it —_— T

(=] 3z — 5 ' } \/;;;7‘_?) C T oz

i 23— 1 . ’

{d} L {el Nome ol these

9?&16 all points of wmitection: fiz) -- —:" w5 g

ta} {2, G (b) (2, 0), {-2, 0O} fej (0, 15)
/25 ) 25

{d} k?,_ ﬁ;) . (—2, -Ei—) (e) None of these

-l . N & o8 - : ;oo s
ahe management of a large store wishes to add 2 fenced in rectangular storage vard of 2RORC

- = sq.fi., using the Duilding as ene side of the vard Find the gununum amount of fencinyg thas

must be uxed to #nciose the rernamning 3 sides of the vard



T — 4

§* At which values of z is £(z) — discontinuous?
35 which values =} '(1“2}(1‘*“1_) scontinuous

(a) 4
{d) -1, 2, 4, —2

Z‘Lct =)= ;-lr; and 9{1} =

() o
(d} -1, 1

3,{)e£crminc the value of ¢ so that

T, < —1

1) = {

{a)
(d)

T—¢, x> —1.
—~4

=}

3‘ Find all vertical asymptotes of f{x] =

(a) T =2

B3| o

(b) -1, 2, 4

(e) None of these

(b} 1
(e) None of these

(b} 4
(e) " None of these

2x — 1

T+3
3

}'1

Naone of these

(b) = =

{e)

r = —3

3 ° ' . — 2
a’f‘ind all vertical asymptotes of f[{z) = T

{a) =
{d) =

= =2, =72

= 2

The cost of producing x
the vahic of 7 that gives

(!

(.

34,800
3

fleFind
(2
{d)

by

T = L9

x? — 4
T

(b)

{e} None of these

units of a certain product is given by (7
the minimum average cost.

(b}

(€} None of these

300

None of these

(b}

{#) None of these

— o0

{<)

(<)

(<}

(<)

10, 000 A ASH

~1, 2

{(c} 0,1

f{=z} is continuous on the cntire real hine when

i
=

P

eSS

* — 1. Find all values of x for which f{g{z)) is discontinuous.

Find



